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(mm) (kg/m) (ke/&) (kg) (mm) (kg/m) (kg/ &) (kg)
R1 D13 5,220 13 0. 995 5.194 68 S D13 6, 600 32 0.995 6.567 210 |RIAETER
R2 D13 3, 660 19 0.995 3. 642 69 S2 D13 3, 860 32 0.995 3. 841 123
R3 D13 840 26 0.995 0. 836 22 S$3 D13 2,060 16 0.995 2.050 33
R4 D13 860 17 0.995 0. 856 15 S4 D13 2,190 16 0.995 2.179 35
RS D13 1,810 13 0.995 1.801 23 S5 D13 3, 660 16 0.995 3.642 58
R6 D13 2,760 32 0.995 2.746 88 S6 D13 8, 150 44 0.995 8.109 357
R7 D13 1,550 16 0.995 1.542 25 T1 D13 5, 960 9 0. 995 5.930 53 |RHEE/NERED
R8 D13 2,910 4 0. 995 2.895 12 T2 D 13 5,270 25 0. 995 5.244 131
R K1 D13 850 18 0. 995 0. 846 15 T3 D13 3, 860 34 0. 995 3.841 131
R K2 D13 860 3 0. 995 0. 856 3 T4 D13 2,190 16 0. 995 2.179 35
R K3 D13 390 14 0. 995 0.388 5 T5 D13 3, 660 9 0. 995 3.642 33
T6 D13 8,500 38 0. 995 8.458 321
D13 345 kg T7 D13 3, 600 6 0. 995 3.582 21
D13 1,541 kg
ait 345 ke
&t 1,541 kg
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(mm) (kg/m) (ke/&) (ke)
X1 D 22 5,390 65 3.040 16. 386 1,065
X2 D 19 5,610 69 2.250 12.623 871
X3 D 16 2,790 65 1. 560 4.352 283
X4 D 16 2,790 69 1. 560 4.352 300
X5 D 16 1,760 70 1. 560 2.746 192
X6 D13 4,880 33 0.995 4.856 160
X7 D 22 4,880 4 3.040 14.835 59
X8 D16 2,280 4 1.560 3.557 14
X9 D13 3,720 2 0.995 3.701 7
X 10 D13 1,720 26 0.995 1.711 44
X1 D13 1,740 10 0.995 1.731 17
X 12 D13 3, 660 10 0.995 3.642 36
X 13 D13 4,560 1 0.995 4.537 5
X 14 D 13 1,600 4 0. 995 1.592 6
X 15 D 13 380 27 0. 995 0.378 10
X 16 D 13 1,960 58 0. 995 1. 950 113
X117 D 13 3,860 19 0. 995 3.841 73
X 18 D 13 560 2 0. 995 0.557 1
X 19 D 13 2,960 2 0. 995 2.945 6
X20 D 16 8,410 n 1. 560 13.120 932
X 21 D 16 6, 360 3 1. 560 9.922 30
X 22 D16 1,610 3 1.560 2.512 8
X 23 D 22 1,000 8 3.040 3.040 24
X 24 D13 8,410 17 0.995 8.368 142
X 25 D13 3,510 1 0.995 3.492 3
X 26 D13 4,400 1 0.995 4.378 4
X 27 D13 800 8 0.995 0.796 6
X 28 D13 7,950 6 0.995 7.910 47
X 29 D13 6,530 17 0.995 6.497 110
X 30 D 13 4,720 1 0. 995 4.696 5
X 31 D 13 1,320 1 0. 995 1.313 1
X 32 D 13 850 8 0. 995 0. 846 7
X33 D 13 2,730 14 0. 995 2.716 38
XK1 D 13 910 59 0. 995 0. 905 53
X K2 D 13 1,100 60 0. 995 1.095 66
X K3 D 13 1,760 27 0. 995 1.751 47
X K4 D 13 1,060 27 0. 995 1.055 28
X K5 D13 360 15 0.995 0.358 5
X K6 D13 3,890 8 0.995 3.871 31
D13 1,071 ke
D16 1,759 ke
D19 871 kg
D 22 1,148 kg
&it 4,849 kg
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(mm) (kg/m) (ke/Z) (ke)
Y1 D 22 5,310 54 3.040 16. 142 872
Y2 D 19 5,470 54 2.250 12. 308 665
Y3 D 16 2,610 54 1.560 4.072 220
Y4 D 16 2,740 54 1.560 4.274 231
Y5 D 16 1,760 56 1.560 2.746 154
Y6 D 13 4,720 28 0.995 4.696 131
Y7 D 16 6,510 72 1.560 10. 156 731
Y8 D 13 6,510 16 0.995 6.477 104
Yo D 13 4,290 20 0.995 4.269 85 |1bskEE
Y 10 D 13 870 30 0.995 0. 866 26 |1bskEE
Y1 D 13 5,660 10 0.995 5. 632 56 |1bskEE
Y12 D 13 860 56 0.995 0. 856 48 |1bskEE
Y K1 D 13 910 36 0.995 0.905 33
Y K2 D 13 870 3 0.995 0. 866 3
Y K3 D 13 1,100 42 0.995 1.095 46
Y K4 D 13 1,060 4 0.995 1.055 4
Y K5 D 13 960 23 0.995 0.955 22
Y K6 D 13 1,670 23 0.995 1.662 38
Y K7 D 13 490 20 0.995 0. 488 10 |1bskEE
—‘ Y K8 D 13 900 18 0.995 0. 896 16 |1EskEE
D13 622 kg
D 16 1,336 ke
D19 665 kg
D22 872 kg
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as & Ex sy |PEEE |—XBYEE & " as & Ex sy |MEEE |—F2UEE | R & 5 =
() (ke/m) (ke/%) (ke) (nm) (ke/m) (ke/&) ko)
Z1 D19 7,410 21 2.250 16. 673 350 729 D 16 1,420 5 1. 560 2.215 1"
72 D 25 7,350 21 3.980 29.253 614 730 D 16 820 5 1. 560 1.279 6
Z3 D 16 3,660 21 1.560 5.710 120 Z31 D 16 4,660 1 1. 560 7.270 7
Z4 D 16 3,660 21 1.560 5.710 120 732 D 16 1,600 4 1. 560 2.496 10
Z5 D 16 3,260 26 1.560 5.086 132 733 D 16 700 8 1. 560 1.092 9
Z6 D 16 1,530 2 1.560 2.387 5 734 D 16 3,660 3 1. 560 5.710 17
Z1 D 16 1,300 2 1.560 2.028 4 735 D 16 970 5 1. 560 1.513 8
Z8 D 16 700 8 1.560 1.092 9 736 D 16 1,660 5 1. 560 2.590 13
Z9 D 16 2,960 110 1.560 4.618 508 Z37 D 16 3,260 3 1. 560 5.086 15
Z10 D 16 1,570 2 1.560 2.449 5 738 D 16 810 5 1. 560 1.264 6
Z1 D 16 1,050 2 1.560 1.638 3 Z39 D 16 1,330 5 1. 560 2.075 10
Z12 D19 3,660 3 2.250 8.235 25 Z40 D 16 3,690 1 1. 560 5.756 6
Z13 D 19 1,000 5 2.250 2.250 1" 4 D 16 1,600 2 1. 560 2.496 5
Z14 D 19 820 2 2.250 1. 845 4 742 D 16 1,250 8 1. 560 1.950 16
Z15 D 19 460 2 2.250 1.035 2 743 D 19 3,660 3 2.250 8.235 25
716 D19 1,700 3 2.250 3.825 " 744 D 19 980 5 2.250 2.205 1"
Z17 D 19 3,260 3 2.250 7.335 22 745 D 19 1,800 5 2.250 4.050 20
718 D 19 1,420 5 2.250 3.195 16 7 46 D 19 3,260 4 2.250 7.335 29
Z19 D19 810 5 2.250 1.823 9 747 D 19 810 4 2.250 1.823 7
720 D 19 4,770 1 2.250 10.733 " 748 D 19 1,220 4 2.250 2.745 1"
yaval D 19 1,600 4 2.250 3. 600 14 749 D19 3,690 1 2.250 8.303 8
722 D19 700 8 2.250 1.575 13 Z 50 D19 1,600 2 2.250 3.600 7
723 D 16 3,660 3 1.560 5.710 17 Z 51 D19 1,250 8 2.250 2.813 23
724 D 16 1,010 5 1.560 1.576 8 Z Kl D 13 1,570 18 0.995 1.562 28
725 D 16 820 2 1.560 1.2719 3 Z K2 D 13 1,570 18 0.995 1.562 28
726 D 16 460 2 1.560 0.718 1 ZK3 D 13 1,150 10 0.995 1.144 1"
721 D 16 1,710 3 1.560 2.668 8 Z K4 D 13 750 10 0.995 0. 746 7
728 D 16 3,260 3 1.560 5.086 15 Z K5 D 13 750 21 0.995 0. 746 16
D13 90 ke
D 16 1,097 ke
D19 629 ke
D 25 614 ke
B/t 2,430 kg
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i d I 1

{ 3, 660
@ 21-D13 X 5,270
B g
? v
@ =

e ]

@ 4-D13 X 4,490

| —:

e

@ 9-D13 X 3,970

153

2-D13 X 1,330

@ 16-D13 X 2,190

1 908~1, 936

153

{) L

e ]

@ 36-D13 X 3,970

@ZDISXZOSO

1,208~1, 236

=

3,660

=
&

@ 36-D13 X 3,860

300

280
e
Aj@
@
@ 16-D13 X 2,190

-3

3, 660 3, 660

3,660 {

=
iy

32-D13 X 3,860

! 16-D13 X 8, 850

3-D13 X 4,190

S ot

_\Y 6D13 X 5670

. 9-D13 X 3, 660

fDIS X 8,500

/

. 9-D13 X 3, 660

9,388

@ 31-D13 X 9, 680

1-D13 X 8,230

19
/

@ 1-D13 X 800

b o

@ 3-D13 X 3,920 400

4-D13 X 400

800

8-D13 X 800

S=1:50

FRE LA (RAEPRIED - RAELE) HMHEER
_— & ®E - HUHE | —ALYHEE & . B
(mm) (kg/m) (kg/Z&) (kg)

Ut 13 5,270 21 0. 995 5.244 110 | R4 R RETER
U2 13 4,490 4 0. 995 4.468 18

U3 13 3,970 9 0.995 3.950 36

U4 13 3, 860 32 0.995 3. 841 123

us 13 2,030 2 0.995 2.020 4

U6 13 1,330 2 0.995 1.323 3

u7 13 2,190 16 0.995 2.179 35

us 13 3, 660 9 0.995 3.642 33

U9 13 8, 850 16 0.995 8. 806 141

u 10 13 8, 500 13 0.995 8.458 110

U1 13 4,190 3 0. 995 4.169 13

u12 13 3,920 3 0. 995 3.900 12

u13 13 5,670 6 0. 995 5.642 34

u14 13 800 8 0. 995 0.796 6

Vi 13 3,970 36 0. 995 3.950 142 | #4568 LB
V2 13 3,860 36 0. 995 3.841 138

V3 13 2,190 16 0. 995 2.179 35

V4 13 3, 660 9 0. 995 3.642 33

V5 13 9, 680 31 0.995 9.632 299

V6 13 8,230 1 0.995 8.189 8

Vi 13 800 1 0.995 0.796 1

V8 13 400 4 0.995 0.398 2

D13 1,336 ke
At 1,336 kg

1,020

R=140

#® fF &

1,020

R=140

%

3,380

@ 2-D13 X 5,860

R=140 ‘

g
?
&
>
3,380 J
§) 12-D13 X 4,820
3,660

@ 22-D13 X 3,660

3,160

—‘ 276

Q 30-D13 X 3,160

1

1,160

28 D13 X 1,160

RIS HHEER

969~2, 469

3\

6-D13 X 1,720

N
©

@ 2-D13 X 3,320

OI:‘
<
3,

20-D13 X 380

. 36-D13 X 410

T -

10
g 2 24-D13 X 850

186

R

{ 2 12-D13 X 390

o & R o BUKE | —F4YEE ' B . =
(mm) (kg/m) (kg/Z&) (kg)
Wi D13 5, 860 2 0.995 5.831 12
w2 D13 4,820 12 0.995 4.796 58
w3 D13 3, 660 22 0.995 3.642 80
w4 D13 3,160 30 0.995 3.144 94
W5 D13 1,160 28 0.995 1.154 32
we D13 1,720 6 0. 995 1.711 10
w7 D13 3,320 2 0. 995 3.303 7
ws D13 380 20 0. 995 0.378 8
w9 D13 410 36 0. 995 0.408 15
WK1 D13 850 24 0. 995 0.846 20
W K2 D13 390 12 0. 995 0.388 5
D13 341 ke
At 34 ke
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